Robin guarantees

high performance;

characteristic descended
from SUBARU DNA.

Robin EH engines

E Ir I| series

09-2D
12-2D/B
17-2D/B
25-2D/B
30D/B
34D/B




EH30D/30B

425 41.9 o
6-M8x1.25-T2 TAP ——o o™
377 16 DEEP N\ (p%i (D‘\()'l\'\
421

206 79 171 3

= TANK CAP ‘ R
EN=S FUEL TANK 0
' o
<

— ’ Yl P

-

42.5 150.9
;[ FUEL STRAINER D type VIEW X
© =@ @ — 425 7133
e < RECOIL STARTER 8-M8x1.25-T2 TAP 40
X 16 DEEP
oW -
X=> - BN 3| i © o
W 0
2 W = AIR CLEANER o o «L"’ = <)
Q| ol
= | ~_BLOWER HOUSING 0| St 25
Qo } E
= ;
| Qjm {{3%
35 OIL DRAIN PLUG 2 O)
oY N, uN) 1]
i B type VIEW X
PERFORMANCE CURVES BAOUNCBTAP 30 - G0 1RZOUNFZBTAP
() for B type 16(0.63")DEEP 0-63 )DEEP
. 2,\(,) .4,8 kgf-m 4-5/16-24UNF-2B TAP
7 2.0(4.0 .
e s
17534{ 1.8(3.6 o
kW
PS 7 MAXIMUM 1
91 | -power ouTPUT = w 5|0
o C w
8 I o
[ ) 8 | ge
7t g | ‘ ‘ LINDE‘H CENTER o SAE "B" FLANGE
i / =
' 6 ﬁ-\/ N MOUNTING FACE JF j‘:@e — MOEJNTING FACE 110
5 . g g % ‘9313? 433
& 5 20 5-¢11 g g | | **635
'é = CONTINUOUS 100 2o < 25071 D0.20)
3 POWER QUTPUTN| || | oS80 =
4 RECOMMENDED POWER 107 PAICISIOS
L OUTPUT RANGE Nﬁ?_’ﬁ
3 L ] S\ rapSYa)
|2 ~] D type VIEWZ T
2r \ 5/16-24UNF-2B TAPf 73
Ly | 20(0.79")DEEP @877
1 | 2-1/4 TAPER PER/ <&
L l FOOT ON DIA <GB
- 2000 3000 4000 107.7 "
(1000) (1500) (2000) 1692 B
60 (562 — L1 o
REVOLUTION SPEED — Irpm 3. 3 o — =5 i
TR
MB8x1.25-T2- 9 10x60° |2 ‘ i ‘ el
16 DEEP CRANKSHAFT | 5| 8| 0] o| @
+0.034 éﬂg‘_‘h?_ﬁi : ‘? 59 ‘o_> ﬁ §
7r7issie R\ AP ‘ CYLINDER CENTER
| CAMSHAFT |
92597385 A E = :
? (e=h - — o ——
A-A / A g
20 5-¢11 PUMP SHAFT EXTENSION (DP)
MOUNTING FACE 100 MOUNTING FACE
107 72,1 12090
60.? 258(0.20“
B type VIEWZ ‘2-3:\’1
.4 ., A+
(6888
A-A  3/8-04UNF-2B TAP
20(0.79")DEEP

KEYWAY SHAFT SAE STD (DU)
MOUNTING FACE
38

@ 301.181"DIA)

M10X1.5-H6 TAP
20(0.79"DEEP
110 TAPER

STANDARD TAPER SHAFT




EH34D/34B

425, 41.9 oo
6-M8x1.25-T2 TAP —\_ oS
377 421 16 DEEP  \ %?ﬁi ¢\0
206 79 171 ol © 2 =
ﬁ—_r- TANK CAP FUEL TANK o o / i o
e i B TN
H‘H R
! 2l S
| i L < DN m/\o(%g
- = V@% Ql |
g i H 42.5]  [509
FUEL STRAINER Dtype VIEW X
0 RECOIL STARTER 425 71 33
¥ 8:M8x1.25-T2 TAP
z 16 DEEP
o Wi
O i g g
3 AIR CLEANER BLOWER HOUSING o @
e g o
[0 i
Ql b
a
~~__OIL DRAIN PLUG
PERFORMANCE CURVES
(_) for B type N-m
MAXIMUM TORQUE' kgf-m 4-3/8-16UNC-2B TAP
: gg 12 24 4.8 16(0.63")DEEP
Z 25044 gg i.g 077 4-5/16-24UNF-2B TAP
21(42 :
69.2 11 ? 146,09
|22l oy 090014
i ooz ) | L e BEi
e 8 waximum T M10x1.25-T2- ¢ 12x60° 3 [l v i
F POWER OUTPUT w 20 DEEP 47 T
10+ N 2 40,034 35| [P [ ‘ 0| 10|
L N I 7r7 f00is A Lc‘ | o3
9 <) - I RANKSHAFT | © olo
[ $30g7 3% © ’iEﬂL”i%ﬁ” R ol NS
L 97 “0.028 Ak ‘ ‘ | I o
sl 6 % AA | | GYLINDER CENTER
L \ ‘ i ‘ | SAE "B" FLANGE
7r 5 /= ' \ MOUNTING FACE &p-— o) —— MOUNTING FACE, 44,
T L \ B a Bt g g 97.3 (4339
6 20 5011 S i | [ *¥g35
= - 4 CONTINUOUS | | 100 s 2501 1.90.207
2 POWER OUTPUT 0|
a 5 O30
= RECOMMENDED POWER. 107 S5 lG
3 OUTPUT RANGE 222
4r 8 = D type VIEWZ Soym
|- 1 e —
3l 1 5/16-24UNF-2B TAP
L 2 \ 20(0.79")DEEP
ol 2-1/4 TAPER PER
L | 1077 FOOT ON DIA
s | 6o2. | 11
r 562 — L 1
[ \ g0y S2, - | |pytt  ®
2000 3000 4000 ar T S
(1000) (1500) (2000) -
M10x1.25-T2- 9 12x60° |35 o ‘ ‘ !
REVOLUTION SPEED — rpm 20 DEEP ‘ ‘ | e ©
CRANKSHAFT | 5| € o
+ Lo TSR
7r7 18855 ARE | [ohuoer e e e
! | CAMSHAFT
(40} _ > L
ouogr3e 28 4= [ (1 1]

MOUNTING FACE

PUMP SHAFT EXTENSION (DP)
107 MOUNTING FACE
721

20.9(0.82"
B type VIEW Z 284) | |5 (020

(2.38") =
==

6.325*

i il

3/8-24UNF-2B TAP
20(0.79")DEEP

KEYWAY SHAFT SAE STD (DU)

MOUNTING FACE
38.1

1.507

ol

8.1 (0329
3.1 .12

=
¢

@ 30(1.181'D1A)

M10X1.5-H6 TAP
20(0.79")DEEP
1/10 TAPER

STANDARD TAPER SHAFT




OUTPUT —

PS

N
1

kW

EHO9-2D

<N

TANK CAP
CARBURETOR FUEL TANK
AIR CLEANER
SPARK PLUG CAP \kﬁl
MUFFLER/ : = = ‘ ,
MUFFLER COVER \
[ I ®
B S%
c o B —
@ ==
DIRECTION OF — e = =
EXHAUST OUTLET G MAIN BEARING COVER =
0 L P.T.0 NS o —
&-——©—2 = X? T Lo %
HHS) \ A ‘ JA o
n] - (o)
5 J! S R % HeH) [}
OIL GAUGE © 85 -
(ON BOTH SIDES) 5L ¢ 5 N ~l2
OIL DRAIN PLUG @ e ‘LngE
e 4 :
(ON'BOTH SIDES) 55£JJ_110U:25 30 58 %
- 164 118.7 SPEED CONTROL LEVER
299 249 ]
METRIC FLANGE
4-M8x1.25 13 DEEP
?IfI\(E)LFELé\g/(%E 24UNF 2B 13 DEEP
i MOUNTING FACE . 66.7
40.7 81
PERFORMANCE CURVES 2 320 2 16
N+-m kgf *m N zv?; {
6 = 30
0.6 e
EEEE we g R
MAXIMUM TORQUE 5 1 S § g YA K™ %ﬂ
| —— 0.5 § {
£ AR i
4 Los4F 1=
CONTINUOU! 23 7 3
FOV\iIER iOUTF’UT | 17 §
MAXMUM < P.T.0 SHAFT 5] &
POWER OUTPUT >,/ ]
\ METRIC ®15mm =
g Keyway Shaft & y|Ew z (SEEING THROUGH)
/ IRECOMMENDED POWER|
IOUTPUT HANGE‘
X 102tpm
MOUNTING FACE
50 Y2 MOUNTING FACE
20 30 40 N % Q 58.4 2
X10%rpm " L 48
REVOLUTION SPEED —*= & N = Al | p
56 % A
g 2 KL
L —=F = 2
~, 17
AR & —j /Q:\
7] & A
7] < B
g
METRIC @ 17mm SAE 958 nch
Plate Shaft Y

MOUNTING FACE
58.4

5/8"-18 UNF-2A

33

&
% $15.88069%%
U

SAE #5/8inch
Pump Shaft

MOUNTING FACE

58.4 2
48

A @xé

5/16"-24UNF2B-TAP

SAE #3/4inch
Keyway Shaft




EH12-2D/12-2B

D type 297 333
D type 129.4 _ Btype 299 TANK CAP 204 10
B type 181.2 L FUEL TANK
L SPARK PLUG 13 DEEP 32.55
FUEL STRAINER 65.1 +02s
ﬁ/ D type VIEW X
STOP SWITCH )
8 % wn 8
o q| BLOWER HOUSING 2@ g
o N
x=| | 4] - D@
©lo = & J | &
2= RECOIL STARTER 2 )
Q AX
824 g AT | To <
am
1 © ‘ AIR CLEANER B 6-M8 X 1.25T2 TAP
MUFFLER / 13 DEEP
MUFFLER COVER EXHAUST (ON BOTH SIDES) 32.55 | |(63.875)_|_ |26 =ozs
65.1 +o.25
B type VIEW X
PERFORMANCE CURVES Blype VIEWA
()forBt N+m kgf *m
or B type
8(16) ' MOUNTING FACE 4-5/16-24UNF-2B TAP
‘ J‘—[ L 4 08(1.6) 33 13(0.51")DEEP /g\, — “
= bz N
PS kW[ | MAXIMUMTORQUE =~ 1714 0-7(1-4)§ 2.3__48 \_ 781 g mb\\ 2N
4 3 i 6(12) Lo.g(1.2) & < 37_ |353 80 E 4 EE(%‘A\W
MAXIMUM a 29« 30 |14 (428 8 Q“”/ﬁ\
POWER OUTPUT s —T| ~ 17 RS
I 4 \
A Te] « } .
N - = = -
_| P189735% ~ X C
3 // . s +0.0270 024 g g hes E% o | o
2 A IS 40,015 = LAl o ‘ © 3255
LA © S e
- A L N '
524 CONTINUOU: A-A 16 CYLINDER CENTER (25
£ KECOMENBED PORER P.T.0 SHAFT 27] no SAE"A"FLANGE
3 OUTPUT RANGE ke
! s i 2 MOUNTING FACE
1 e S5 = 716 | 22
= (2.818") (0.087")
& 52.4
D type VIEW Z = =
— k=1
2 =
0d o 2
20 30 40 e —
1o 19 &) x10pm 5/16-24UNF-2B TAP st
REVOLUTION SPEED — 16(0'_63,.)DEEP \ %;oj §§ {
2-1/4 TAPER PER FOOT ON DIA| 3|55
9
MOUNTING FACE GENERATOR SHAFT EXTENSION (DH)

3.1
2.3, .48 4373 80

MOUNTING FACE
428) 22 585 _| 3.3
1 7 rﬁ/ (2.303") (0.130")
= 1 oé
® i
o 2 ‘ 8 o =N
0 X —~[52
g7 (] ! 235| ®exih
018073 %| =0 T ‘ ‘ = o o5 [ ] 122 ]ZF
of L 15171863 g 9
IS o = 1,/CYLINDER CIT.NTER o 2/4-16UNF-2A/
8 | J f’
A-A 16 A*H L -
P.T.0 SHAFT 27 | E‘f PUMP SHAFT EXTENSION (DP)
B type VIEWZ MOUNTING FACE
58.3 | 3.3
= ,
ots0sie [z [
(o’mouom) (1678
: Ic
4.755565 A
e |1 z
- fes
A-A
Ad
5/16-24UNF-2B TAP, f’
16(0.63")DEEP

KEYWAY SHAFT SAE STD (DU)




OUTPUT —=

EH17-2D/17-2B

D type 298

D type 131

B type 300 TANK CAP

B type 133.2

383

(318)

y

x
'
mn

D type 106
B type 110
22

MUFFLER

MUFFLER COVER

PERFORMANCE CURVES

() for B type

N+m

kgf *m

11(22)

\
PS [T 11

10(20)

1.0 (2.0)

[ MAXIMUM TORQUE
KW [ ——

{1.1 (2.2)

9 (18)

0.9(1.8)

TORQUE —=

4 MAXIMUM
_POWER OUTPUT _

OUTPUT RANGE

CONTINUOUS
JZL_POWER QUTPUT ‘A
RECOMMENDED POWER!

0oJd o

20
(10)

30
(15)

40
(20) x102rpm

REVOLUTION SPEED ——

FUEL STRAINER

AIR CLEANER

(ON BOTH SIDES)

MOUNTING FACE

FUEL TANK

SPARK PLUG

STOP SWITCH

BLOWER HOUSING

RECOIL STARTER

2.9
23_ 50\, 78.1
38_ (353
g 30 (428)
N 4
IE"\:j uNj it
02097588 N L {e
5760 g 2 i §‘ g
11 bl
& ﬁi 5%% 1
ASa - T %
A-A w6 - w 2
P.T.0 SHAFT pe { i1 /CYLINDER CENTER
127] Igl
| '
o [T 2-¢8.5
ol 15
D type VIEW Z
MOUNTING FACE
3.1
2.3 _._.50 \373__ 80
(428) &
ey ,
e+
‘
N 0
Sl [L3s_ || ‘ 8
N |
02097 38% 3 30, o N
517 6.6% ® iele
é = b | |2
R 22 & |
N s 7 'CYLINDER CENTER
A-A D7 R T
P.T.0 SHAFT 16 9 T
127]  gHks
Biype VIEWZ.

165.1 +0.25

4

)

©

W

32.55

|
P

32.55
65.1 +o0.25

D type VIEW X

4-M8X1.25T2 TAP
13 DEEP

6-M8X1.25T2 TAP
13 DEEP

65.1 +0.25
32.55

52 +025

A

G

N\

26

%
@

D

65.1 +025
32.55

(63.875) |26 *o.25

B type VIEW X

4-5/16-24UNF-2B TAP

13(0.51")DEEP
o=
'Q\lg

5
g1
N

1

L8
I
)

(358%)

SAE "A" FLANGE

MOUNTING FACE
71.9 3.1
(2831 [[(0.122")

60.6

(2.386")

$17.462

(0.6875'DIA)

5/16-24UNF-2B TAP
20(0.79")DEEP
2-1/4 TAPER PER FOOT ON DIA

108385 ¥

(o

0.7812'DIA
0.7807" DIA)
<F

GENERATOR SHAFT EXTENSION (DH)

MOUNTING FACE
4

58. 2.9
(2.299") (0.114")
&g
23 (0908 L g ?
5/8-18UNF-2A EE
)
PUMP SHAFT EXTENSION (DP)
MOUNTING FACE
2.9
0.114")

018 )
0.187

3/8-24UNF-2B TAP
26(1.024")DEEP

KEYWAY SHAFT SAE STD (DU)




EH25-2D/25-2B

380
D type 332 205
D type 157 Blype 333 TANK CAP 10 FUELTANK S
B type 158 T 8
(,; ﬁJ:AU 1D g
FUEL STRAINER // SPARK PLUG
s
ARCLEANER. [ Dtype VIEWX
STOP SWITCH 8-M8x1.25-H16 TAP
N
35
= ‘ RECOIL STARTER
S o
dl Sﬁ ! g
- [ee]
X = o QHL ] y
g8 z
H=
[a])i] [ ‘ ‘
Qi @/ +O [ B
OIL DRAIN PLUG
MUFFLER EXHAUST
MUFFLER COVER (ON'BOTH SIDES)
PERFORMANCE CURVES
( )for\B “\,pe\ T oy ' @“«5-%\
————< 17684 -1 7(3.9) MOUNTING FACE AT
[T MAXIMUM TORQUE 1~ 16(32) 11 6(3.2) SO
Pgs i i i i 15(30)| 1 53.0) 3 60 1. (94.3) ey
_ g v
kw T 11 14(28)L4 4(2.8) © 45 96
MAXIMUM POWER OUTPUT 2, ]l 3,418 85
81 8 b= g o5l e [ses X /
3ol 4 4o
" 5 - 0007 E 35 1%
/ $2507 ‘o028 5 i I
6 7p7+0,030 < 0 o
1 ] 4 v 40,015 SLD "*L, r | i =k
bl ot 1IN mliv—v—\ ol
& HE= 1/2-20UNF-2B TAP
5 POWER UTBUT st i /9l 16(0.63")DEEP 15(0.59"DEEP
B 493 RECOMMENDED POWE! A-A Mex1.25-6H TAP/ A S ! Y
OUTEUT RANG] - @ - ngn
3, PTOSHAFT 16 DEEP by \ SAE"B"FLANGE
71 9 o “’ \CYLINDER CENTER
‘
2 ¥ 1 ! l MOUNTING FACE
1 | 1 0w 110
l | i ‘o7
- 0|
\ S.. e1os Sz | [Teei) 334
0- 25 [fate]
20 30 40 D type VIEW Z N D
(10) (15) (20)  x10%rpm — I
REVOLUTION SPEED — 5/16:24UNF-2B TAP =
MOUNTING FACE (94.8) 20(0.79")DEEP g
2-1/4 TAPER PER e
- 3.2_[423 96 FOOT ON DIA =
s SRR o
= . : o= ' h 25 © GENERATOR SHAFT EXTENSION (DH)
S
4560 LR
< MOUNTING FACE
47 ! ~ 721 _ | 20.
0,007 | 8 %) 16 12.5339”) (0.807")
92597 002 35 i‘ | 06307 0118
+0.030 - = 0| = D
717 +0.015 Sl h ! Lan;o - 1
A% SN | g .
s e
A% CYLINDER CENTER e 3e
A'A [ A_\ J * gf =
P.T.O SHAFT - N
= PUMP SHAFT EXTENSION (DP)
M8x1.25-H16 TAP 5 5-910.5
16 DEEP
Btype VIEWZ 8.2 MOUNTING FACE.
Bk 72.1 20.7
P
=2 f (93530) (2.382") D
8/ & | EPF
‘u@» S—
/ o
3/8-24UNF-2B TAP Qe
25(0.98")DEEP <

KEYWAY SHAFT SAE STD (DU)




B SPECIFICATIONS

Model EH12-2D | EH12-2B | EH17-2D | EH17-2B | EH25-2D | EH25-2B

Type Air-cooled, 4-cycle, single cylinder, horizontal PTO shaft, OHV, gasoline engine

Bore X Stroke mm(in.) 60X43(2.36X1.57) 67 X49(2.64X1.93) 75X57(2.95X2.24)

Piston displacement  mi(cu.in.) 121(7.38) 172(10.50) 251(15.31)

Continuous output 2.1[2.8](2.8)/3600 | 2.1[2.8](2.8)/1800 | 2.9[4.0](4.0)/3600 | 2.9[4.0](4.0)/1800 | 4.7[6.4](6.4)/3600 | 4.7[6.4](6.4)/1800
kW[PS](HP)/rpm | 1.8[2.5](2.5)/3000 1.8[2.5](2.5)/1500 2.6[3.5](3.5)/3000 2.6[3.5](3.5)/1500 4.0[5.5](5.5)/3000 4.0[5.5](5.5)/1500

Maximum output kW[PS](HP)/rpm | 2.9[4.0](4.0)/4000 2.9[4.0](4.0)/2000 4.4[6.0](6.0)/4000 4.4[6.0](6.0)/2000 6.3[8.5](8.5)/4000 6.3[8.5](8.5)/2000

Maximum torque N-m[kgfem] 7.5[0.76] 14.9[1.52] 10.7[1.09] 21.4[2.18] 16.6[1.69] 33.1[3.38]

(Ibf+ft)/rpm (5.53)/2600 (10.99)/1300 (7.89)/2600 (15.78)/1300 (12.24)/2600 (24.41)/1300

Direction of rotation Counter clockwise as viewed from PTO shaft side

Fuel Automobile unleaded gasoline

Fuel Tank capacity liter(us gal.) 3.6 (0.95) | 6.0 (1.59)

Lubricant Automobile oil SAE#20, #30, 10W—30, class SE or higher

Lubrication Splash type

Lubricating oil capacity liter(us gal.) 0.6 (0.16) | 0.65 (0.17) | 1.0 (0.26)

Carburetor Horizontal draft, float type

Ignition system Flywheel magneto (solid state)

Starter Recoil starter (Electric starter as option)

Spark Plug NGK B6ES | NGK B6HS

Governor Centrifugal flyweight type

Type of Reduction — 1/2gear type — 1/2gear type — 1/2gear type

Dry weight kg(lb) 15 (33.1) 15.5 (34.2) 16 (35.5) 16.5 (36.4) 23 (50.7) 24 (52.9)

Dimensions 297 X 333X 366 299 X 333 X 366 298 X333 X383 300X 333X383 332X380 X442 333X380X442

length Xwidth X heigth ~ mm(in.) [(11.69X13.11X14.41)(11.77X13.11 X 14.41)[(11.78 X 13.11 X 15.08)|(11.81 X 13.11 X 15.08)|(13.07 X 14.96 X 17.40)| (13.11 X 14.96 X 17.40)

Model EH30D | EH30B | EH34D | EH34B | EH09-2D

Type Air-cooled, 4-cycle, single cylinder, horizontal PTO shaft, OHV, gasoline engine .
Bore X Stroke mm(in.) 78X 61(3.07 X 2.40) 84X61(3.31 X2.40) 51X42(2.01 X 1.65) T,
Piston displacement  mi(cu.in.) 291(17.16) 338(20.63) 86(5.24) I
Continuous output 5.1[7.0])(7.0)/3600 | 5.1[7.0](7.0//1800 | 5.9[8.0](8.0)/3600 | 5.9[8.0](8.0)/1800

KW[PS](HP)/rpm | 4.4[6.0](6.0)/3000 | 4.4[6.0](6.0)/1500 | 5.1[7.0](7.0)/3000 | 5.1[7.0](7.0)/ 1500 | 1-5[2.01(2.0)/3600
Maximum output KW[PS](HP)rpm | 6.6[9.0](9.0)/3600 | 7.4[10.0](10.0)/2000 | 8.1[11.0](11.0)/3600 | 8.8[12.0](12.0)/2000 | 2.1[2.9](2.9)/4200

Maximum torque Nem[kgf-m] 19.1[1.95] 38.2[3.90] 23.6[2.41] 47.3[4.82] 4.9[0.5]
(Ibf+ft)/rpm (14.09)/2500 (28.17)/1250 (17.41)/2500 (34.89)/1250 (3.61)/3600

Direction of rotation Counter clockwise as viewed from PTO shaft side

Fuel Automobile unleaded gasoline

Fuel Tank capacity liter(us gal.) 6.0 (1.59) | 1.5(0.4)

Lubricant Automobile oil SAE#20, #30, 10W—30, class SE or higher

Lubrication Splash type

Lubricating oil capacity liter(us gal.) 1.2 (0.32) | 0.3 (0.079)

Carburetor Horizontal draft, float type

Ignition system Flywheel magneto (solid state)

Starter Recoil starter (Electric starter as option) Recoil starter

Spark Plug NGK B6ES NGK BMR4A

Governor Centrifugal flyweight type

Type of Reduction — 1/2gear type — 1/2gear type —

Dry weight kg(lb) 30 (66.1) 31 (68.3) 30 (66.1) 31 (68.3) 9.9 (21.8)

IZ Ef;fxvr;zm xheigth  mm(in) 377X 421X 485 (14.84X16.57X19.09) (9_§3iff 33??3996)

Specifications are subject to change without notice.

* SUBARU
FUJI HEAVY INDUSTRIES LTD.

INDUSTRIAL PRODUCTS COMPANY -

4410 ASAHI, KITAMOTO-SHI, SAITAMA, 364-8511, JAPAN || CTWV = || || | TO¥_

TEL:+81-48-593-7798, FAX:+81-48-593-7946 || o eniso soot 1SO 14001 ISSUE EMD-ELO165R
http://www.fhi.co.jp/robin/ = J {(No:0o 104 8136 Printed in Japan 2007. 07 ©,®




